AP Statistics
Why are Statisticians Misunderstood?

Name:_________________________________________________________ Period:____ Date:_________
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Use your knowledge of inference for means and proportions to find the answer to the riddle.

1.  Decision when p-value = 0.0124 and α = 0.05




2.  Decision when p-value = 0.621 and α = 0.05

3.  Ho: p = 0.65  Ha: p > 0.65, x = 27, n = 40, p-value =
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, z = 

5.  Ho: 
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6.  Ho: 
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, p-value =

7.  Ho: 
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8.  Ho: 
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, z = 

9.  Ho: p = 0.14  Ha: p < 0.14, x = 27, n = 40, z =

10.  Ho: μ = 16  Ha: μ < 16,  
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 = 13.6, s = 3.2, n = 40, t = 
11.  Ho: μ = 2.8  Ha: μ > 2.8,  
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 = 3.1, s = 1.9, n = 32, p-value =
12.  Ho: μ = 22.8  Ha: μ ≠ 22.8,  
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 = 23.4, s = 4.9, n = 36, t =

13.  Ho: μ = 22.8  Ha: μ ≠ 22.8,  
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 = 26.7, s = 4.9, n = 42, p-value = 

14.  Ho: 
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, t = 

15.  Ho: μ = 22.8  Ha: μ > 22.8,  
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 = 26.7, s = 4.9, n = 42, t =

16.  Ho: 
[image: image26.wmf]12

mm

=

 Ha 
[image: image27.wmf]12

mm

>

, 


[image: image28.wmf]1122

13.7,2.3,40,15,1.2,42

xsnxsn

======

, df = 

17.  Ho: 
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, df = 

18.  Ho: 
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, df = 

19.  Ho: 
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, df = 

_______  _______  _______  _______  _______  _______  _______

       8             11            5               9              15           2             19
_______  _______  _______  _______  _______  _______  _______

      12             1              16             6            3
  13            4
_______  _______  _______  _______  _______  _______   
       14              17            7           9              18             10
KEY


Fail to Reject Ho:  AND


Reject Ho: IS


Z = 0.4523: ABOVE


Z = 0.6510: BELOW


Z = -0.2570: THEIR


Z = 9.75: A


� EMBED Equation.DSMT4  ���= 0.238: OF


� EMBED Equation.DSMT4  ���= 0.9962: AT


� EMBED Equation.DSMT4  ���= 0.5385: IN


� EMBED Equation.DSMT4  ���= 0.6014: TO


T= -1.268:  THE


T = -4.743: DISTRIBUTION


T = 5.158: SCENIC


T = -3.186: NORMAL


T = 0.7347:  TRIP


T = 0.467: SHIP


T = -1.573: BINOMIAL


P-value = 0.3701:  STANDARD


P-value = 0.1893: IDEA


P- value = 6.743: MEDIAN


P-value ≈ 0: DEVIATIONS


P-value = -.9988: SPEEDING


P – value = 0.0454: THREE


Df = 58.13: TRAVELLING


Df = 40.3: MEAN


Df = 99.9: NORMAL


Df = 107.7: EXOTIC
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